
5751 5751.5 5752 5752.5 5753
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

24.5

25

25.5

26

26.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

2.5

3

3.5

4

4.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

76.5−

76−

75.5−

75−

74.5−

us
l_

1X
usl_1X:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

30.6

30.8

31

31.2

31.4

31.6

31.8

32

32.2

32.4

32.6

32.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

16

16.5

17

17.5

18

us
l_

4e
Y

usl_4eY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

37−

36.5−

36−

35.5−

35−

us
l_

12
X

usl_12X:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

126.5−

126−

125.5−

125−

124.5−

us
r_

1X

usr_1X:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

5

5.5

6

6.5

7

us
r_

4a
Y

usr_4aY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

205

205.5

206

206.5

207

us
r_

4e
X

usr_4eX:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

10.5

11

11.5

12

12.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

41−

40.5−

40−

39.5−

39−

us
r_

12
X

usr_12X:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

20543.5

20544

20544.5

20545

20545.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

3179

3179.5

3180

3180.5

3181

us
l_

co
il3

usl_coil3:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

4476.6

4476.8

4477

4477.2

4477.4

4477.6

4477.8

4478

4478.2

4478.4

4478.6

4478.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

212.4−

212.2−

212−

211.8−

211.6−

211.4−

211.2−

211−

210.8−

210.6−

210.4−

210.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

2142

2142.2

2142.4

2142.6

2142.8

2143

2143.2

2143.4

2143.6

2143.8

2144

2144.2

us
l_

co
il7

usl_coil7:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

18459−

18458.5−

18458−

18457.5−

18457−

us
r_

co
il1

usr_coil1:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

2764−

2763.5−

2763−

2762.5−

2762−

us
r_

co
il3

usr_coil3:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

4878

4878.5

4879

4879.5

4880

us
r_

co
il4

usr_coil4:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

451−

450.5−

450−

449.5−

449−us
r_

co
il6

usr_coil6:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

33287.5

33288

33288.5

33289

33289.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

293.8−

293.6−

293.4−

293.2−

293−

292.8−

292.6−

292.4−

292.2−

292−

291.8−

291.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

20.5−

20−

19.5−

19−

18.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

305.5

306

306.5

307

307.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

314−

313.5−

313−

312.5−

312−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

42.5−

42−

41.5−

41−

40.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

254.6

254.8

255

255.2

255.4

255.6

255.8

256

256.2

256.4

256.6

256.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

196.5

197

197.5

198

198.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

51

51.5

52

52.5

53

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

17.5−

17−

16.5−

16−

15.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

204.6

204.8

205

205.2

205.4

205.6

205.8

206

206.2

206.4

206.6

206.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

16−

15.5−

15−

14.5−

14−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6208}



5751 5751.5 5752 5752.5 5753
cyclenum

232−

231.5−

231−

230.5−

230−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

82.5−

82−

81.5−

81−

80.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6.5−

6−

5.5−

5−

4.5−12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

7

7.5

8

8.5

9

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

485−

484.5−

484−

483.5−

483−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6208}

5751 5751.5 5752 5752.5 5753
cyclenum

6206

6206.5

6207

6207.5

6208

6208.5

6209

6209.5

6210

ru
n

run:cyclenum {run == 6208}
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